o0 18040 130
000000 No.l (DODODDOOOODOOODO)
01 (0000)"0000oooooooogooo.

Ax(BxC)=(A-C)B—(A-B)C
Ax(BxC)+Bx(CxA)+Cx(AxB)=0

02 (0000)* 0000 BOOOODD AODODODODQOOOOOOOOOOOO
gogbbobuooogbbbuoooobobbaod.

A-B (AxB)x A
B = yE A+ yE

03 (00000 L00000.0000000 (0000, 00000000
OO)A00000oooo0oo00 000000,

AMx) = Ao + M (z/L)?
D0000000.0000000000.000, M, O000000.

04 (DOO0)*00 ROODODOODOODO.0D0D0DOOOOOOOOOO, OOO
gbobbuoodibebbOoooobbbodg-obboag,

o(r) =09+ 01 exp{<;>2]

gogobgob.0bobbobooboobdd, e, doogoo.

05 (0000)*000000000<z2<+ae?—2?2—y?000000000
gobbobuogdgzgobbbuooogbbbooad.

—_

O0(*)0000000oooooooooo.

\)

000000 (b000)0000000,00000000O.

w

go,buogoobobbuogobboogoobobooooooobo.

~—_— O ~— ~—

W

oo, ggogogoobobbboobo,bbbbbbobbboo
gobbooda,obbbo.obobbbodoggbbboooobbbg.

5) 000,0000 (100), 1000 (40), 000 (30), 00 (30)000000
ooo.

6) 0000000,000000000,00,00000000,000,00
gogooobobbobob.oobbbboboobbboboooooogo.boo
gboboboooobobo,gbobbbuoodgbbobuoooobo

7) 0000000000000 0DOD0ODO0000000000000000O0
gobobooodgn



(OO)OoOoOoO0 z = f(u,v),y =g 0000,000 (z,y) 0000 (u,v)
00000,000 (2,9)0000 DOODOO (u,0)00 DO0O0OOOO
0o,

O //DF(x,y)da:dy://D/F(f(u,v), g(u,v)) J(u,v)dudv

000 Ju,v)DOODODODOOOODODODOOOODOOOooOoO,

ou  Ov
9y Oy
ou  Ov

Oz Ox
J(u,v):‘ |

000,200000000 (r,y)DODDOD (rAHOOOOOOODOO (x=
rcosf, y=rsinf),

O // f(I,y)dxdy:// F(rcos®,rsinb) rdrdd
//962+y2<R2 Va2 )dxdy:/oRg(T) 2mr dr

gobbbuoooobobo.gobbobuooooboboooooboo
goob.o

O0003000000000000 z = f(u,v,w), y = g(u,v,w), z =
h(u,v,w) 0000,

D// (x,y, 2 d:vdydz—//l (u,v,w), g(u,v,w), h(u,v,w)) J(u,v,w)dudvdw

000,000 J(u,v,w)O
J(u,v,w) = %y %y Oy

00O0. 300000000 (2,9,2) 00000 (r,0,9) 00000 (z =
rcos¢sing, y =rsingsinf, z =rcosf) 0000,

/// h(z,y,z)dxdydz = /// h(r sin @ cos ¢, r sin 0 sin ¢, r cos 6)r?* sin 6 dr df) d¢
D D’
R
/// p(Va? +y? + 2?)dedydz = / p(r) dmr? dr .
x2+4y2+22<R? 0

goboboooogoboooag.



